43.

44.

2022

The following table shows the production and consumption data in Country A, which only produces and

consumes clothing (C) and food (F).

Clothing (units) Food (units)
Total production WITHOUT trade 10 60
Total production with specialisation 60 0
Total consumption with trade 20 120

The terms of trade is

vows

The diagram below is about a small open economy imposing an import quota on Good X.

1C=2F
1C=3F
1C=5F
1C=6F

Price
A

P world price | = = = - —

So

If the world price of Good X drops,

Sowx>

the quota will become ineffective.

» Quantity

the quantity of Good X produced domestically will decrease.
the quantity of Good X consumed domestically will increase.
the domestic price of Good X will remain unchanged.

In a two=countrv=two-good modcl, the outputs per unit of resources of both countrics arc as follows,

Rice (units) Toys (units)
Comiry E 10 OR 20
Country F 5 OR 15

(1) Assumc the terms of trade are thal 1 umil of rice can be exchanged for 2.2 unils of toys. Calculale the
rains from trade of EACH country when trading 1 unit of rice. Show vour workings.

(b) With reference to vour answer in part (a). defend the following statement, “There is still a basis for
(2 marks)

trade even if a country has no absolute advantage in producing any goods.”
4. Country B and Country C are two large open economies. Facing a huge visible trade deficit, Country B

imposes a per-unit tacifl on goods imported from Country €. Suppose Country B's demand for goods

imported [rom Country C is clastic.

@ With the aid of Figure 1. explain how the tariff would affect the total expenditure of Countrv B on

goods imporied [rom Country C. (6 marks)
{b)y  “Devaluation of a country s currency against its trading partoers” may have the same effect on imports
as Lanfl” Use Country B as an example (o jusily (his statement (2 marks)

{c)  Apart [rom the elfect on the country’s visible trade balance. explain ONE other eflect of devaluation

on ils balance of paymenls.

(2 munks)

Price (interms of Country B's currency)
A

0

>melil_\’ of goods imporicd rom Country C

(4 marks)



SECTION 7: INTERNATIONAL TRADE

7.1 GAINS FROM FREE TRADE

Multiple Choice Questions

1990/CE/11/42
A country gains from trade because

A. it obtains goods at a lower opportunity cost.

B. it collects tariff revenue.

C. it exports more than it imports.

D. it specializes in producing goods in which it enjoys an absolute advantage.
1990/CE/11/48

The tablé below shows the production of two goods in two countries:

One unit of resources can produce
Clothes (units) Toys (units)
Country X 10 OR 5
Country Y 2 OR |

Suppose there are no barriers to trade between the two countries,

A. X will export clothes and toys to Y.

B. X will export clothes and import toys from Y.

C. Y will export toys and import clothes from X

D. neither country will benefit from their mutual trade.

1991/CE//53

P - |

1L
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The following table shows the number of man-hours required for the production of two goods X and Y in Countries A and B.

Country A

Country B

1 unit of X
1 unitof Y

1 man-hour
3 man-hours

2 man-hours
4 man-howrs

According to the principle of comparative advantage,

277

A, Country A will export X and import Y.
B. Country A will export Y and import X.
C.  Country A will import X and Y from Country B,
D.  Country A will export X and Y to Country B.
1 o] e y )
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1992/CE/1/51
Refer to the following table:

Toys (units) Machinerylunits)
HK'’s output per man-hour 30 OR 20
U.S.A.’s output per man-hour 50 OR 40

(1) The LS A hog an obsolute advantage 1o producmy both goods

(2) The LS. A. has un nbsolute ndvantnge in producing machiery only
(3) Hang Kong has mcomparntive ndvantage m producng toys

(4) Hong Kong has a comparative advantage in producing machinery

A.  (1)and (3)only
B. (1)and (4) only
C.  (2)and (3)only
D. (2)and(4) only
1992/CE/1/53

International trade is beneficial to a country if

A, that country exports more than it imports.
B.  that country imports more than it exports.
C. it allows a more efficient use of resources.
D. it enables the government to collect tariff revenue
1993/CE/TI/52
Output per unit of resources
Country Wheat(units Cotton (units)
X 2 OR 4
Y | OR <3
According to the above table, country X has a opportunity cost in producing wheat and country Y has a
comparative ndvantage in producing Therefore, country Y will import from country X
A, lower cotton ...... wheat
B. lower wheat ...... cotton
C.  lugher wheat ... wheat
D higher catton cotton
1994/CE/11/52

Suppose a country has an absolute advantage in good X. Which of the following is correct?

1t is possible that the country has a higher opportunity cost of producing good X than another country.

The country can produce a greater amount of good X than another good with the same amount of resources
The country will also have a comparative advantage in good X.

The country will have an absolute disadvantage in another good.

gow>
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1994/CE/T1/53
The following table shows the production of two goods in two countries

One unit of resources can produce

Clocks Tovs
Country A 2 OR 4
Countrv B 6 OR 8

Suppose 1 unit of clocks can be exchanged for 2 units of toys through trade,

A.  Both A and B will gain from trade.

B. Both A and B will not gain from trade.

C. A will not gain from trade.

D. B will not gain from trade.
1995/CE/1/51

If a country has a comparative advantage in good X, 1t will

A, have an absolute advantage in X.

B.  have a comparative disadvantage in some other good(s).

C.  specialize in producing X and export all its output of X to other countries.

D.  completely specialize in the production of X.
1995/CE//52
Suppose in Country A one unit of resources can produce either 1 unit of X or 3 unit of Y. If from trade 1 unit of X can
exchange for 2 units of Y, Country A will export and gain for each unit of export.

A X T unitof Y
B. X... 1/6 units of Y
C. Y .. luitof X
D. Y... 1/6 units of X

1996/CL/11/46
Given a unit of input, the amount of output produced by Countries A and B are shown below:
Garment (units) Shoes (units)
Country A 2 OR 6
Countrv B 4 OR 8

Which of the following is/are true?

(1) The opportunity cost of producing shoes in Country B is lower than that of Country A.
(2) Country B enjoys absolute advantage in the production of both goods.
(3) Tftrading opportunities were opened up, Country B would export garment and import shoes.

A {l)only

B. (3)only

C. (l)and(2)only

D (2)and (3) only
1996/CE/11/47

A country will gain from international trade if

it specializes in producing goods in which it enjoys comparative advantage.
the price of its exports is higher than that of its imports.

the quantity of its exports is greater than the quantity of its imports.

the price of its imports is less than the unit cost of producing these goods itself.
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1996/CE/11/53 1999/CE/11/46
Which of the following economic principles can best explain why a doctor, who is the fastest typist in town, chooses to If a country specializes and exports good X, it implies that
employ a typist to do all the typing for him?
A, The country needs to give up less of other goods than other countries in order to produce good X.
A, economies of scale B.  This country has more resources than other countries for countries for producing good X.
B.  comparative advantage C.  This country uses less resources than other countries for producing the same amount of good X.
C.  diversification of work D.  This country can produce good X at a lower cost than other goods.
D. law of diminishing returns
1999/CE/11/48
1997/CE/11/53 Suppose the output per man-hour of China, Japan and the US are as follows:
Suppose the production of cars and shirts in Mainland China and in the U.S.A. is as follows
DVD (unilsg) VCD (Units)
One unit of resources can produce China 10 OR 30
Car {units) Shirts (units) Japan 20 OR 20
Mainland China 1 OR 4 Us 30 OR 30
US.A 2 OR 3

According to the table,
Suppose Hong Kong is willing to exchange 45 units of shirts for 9 units of cars. Under free trade, in order to obtain the
maximum gain per unit of export/import, The US has a comparative advantage in producing both goods.
The US has a comparative advantage in producing VCDs only.
China has a comparative advantage in producing DVDs only.

Tapan has a comparative advantage in producing DVDs only

Mainland China would export shirts to Hong Kong.
The U.S.A. would export cars to Hong Kong.

Hong Kong would import shirts from the U.S. A.
Mainland China would import shirts from the U.S.A.

vow>
caw>

Z000/CE/MN/46
Suppose there are good X and good Y only. If a country has a comparative advantage in good X, it will have
Question 43 and 44 refer to the table below. Suppose there are only two countries, Country A and Country B. The output of

bananas and shoes per unit of input of the two countries are as follows: A, an absolute advantage in Y.
B. an absolute disadvantage in Y.
Bananas (Units) Shoes (Units) C.  acomparative advantage in Y too.
Country A 4 OR 12 D.  ahigher opportunity cost in producing Y.
Country B 2 OR 4

Answer questions 47 and 48 by referring to the following table. It shows the amount of resources (in man-hours) required to

1998/CE/11/43 ; ) . "
. . duce 1 unit of X or 1 unit of good Y try A and try B, tively.
Which of the following statements s correct? produce 1 unit of good X or 1 unit of goo in country A and country B, respectively.
. . . . Good X Good Y.
A, Country A has both an absolute and comparative advantage in the production of bananas. Countiv A o(: 002
B. Country A will export shoes. Countey B 3 2
C.  Country B will import bananas. QuUntEY
D. Both countries will gain if 1 unit of bananas is exchanged for 4 units of shoes,
2000/CE/N1/47
1998/CE/I1/44 With 1 un_lt of resources , ‘counu?y A can produce c.lther unit(s) of x or unit () of Y while country B can
produce either unit(s) of X or unit (s) of Y.

There are 4 units of resources in each country. Before trade, both countries use 1 unit of input to produce bananas and 3 units
to produce shoes. If complete specialization takes place in the two countries, what will be the change in the total output of

bananas and shoes of the two countries? g

A, Only the production of bananas will increase. g

B.  Only the production of shoes will increase. :

C.  The production of bananas will increase but the production of shoes will decrease.

. : h f ‘
D. The production of both bananas and shoes will increase 2000/CE/II/A8
Both countries will gain from trade if 1 unit of X can exchange for
1998/CE/11/45 A 05Y.
1f Country X can produce the same amount of each good with less resources than Country Y, then B' O'GY.
i . 5 C. 0.75Y.

A, there is no favourable terms of trade between Country X and Country Y. P iy

B. Country Y may still produce some goods at a lower opportunity Costs. ) )

C. trade can still take place based on absolute advantage.

™ et V- oogesses comparative advantage on atl goods.
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2001/CE/I/42

The production cost of 1 unit of food in country X i1s 3 units of clothing. When country X trades with country Y, it can obtain
1 unit of clothing import by export 0.2 units of food.

What is country X''s total gain from trade if it exports 10 units of food to country Y?

20 units of clothing
30 units of ¢lothing minus 10 units of food
50 units of clothing
50 units of clothing minus 10 units of food

Tnw

Questions 43 and 44 refer to the following table which shows the data about country A.

Good X Good Y
(Units) (Units)
Total output with no international trade 40 and 60
Total output with specialization and international trade 0 and 110
Total consumption with international trade 50 and 80
2001/CE/N/43
After specialization, country A produces units less of good X and units more of good Y. Therefore the
opportunity cast of producing 1 unit of good Y is units of good X.
A.
B.
C
D.
2001/CE/11/44
In trading, country A exports units of good Y and imports units of good X. Therefore the terms of trade is
A 20 ... 10 ... 1Y =1/2X
B. 20 ... 10 ... 1Y =2X
(CH
D.

2002/CE/M/44
Suppose Mrs Wong, a sole proprietor of a garment factory, is the best cook in town, but she leaves all the cooking to her
domestic helper at home. Which of the following would be correct?

The domestic helper has a comparative advantage in cooking.

Both Mrs Wong and the domestic helper provide a labour service and receive wages.
Complex division of labour is illustrated in this case.

Both Mrs Wong and the domestic helper are tertiary producers.

SOw>
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2002/CE/11/45
The following table shows the output of X and Y per unit of resources in countries A and B
Goods X (units) Goods Y (units)
Country A | OR 3
Country B 2 OR 4

Which of the following is/are the terms of trade under which trade between the two countries is mutually beneficial?

A 1X=2Y

B. 1X=3Y

C. 2X=5Y

D. All of the above are correct.
2002/CE/I/47

Consider the trade between two countries X and Y, both of which produce garments and computers only. If country X has the
comparative advantage in producing garments, then country X

A produces more garments per unit of resources than country Y.

B. produces better quality garments than country Y.

C.  gives up a smaller amount of computers in order to produce a unit of garments than country Y.
D. gains more from their trade than country Y.

Answer Questions 45 and 46 by referring to the following table.
Before trade, the actual output of Country A and Country B with all their resources evenly allocated between the production
of Good X and Good Y are shown below:

Good X (Units) Good Y (Units)
___Country A 100 AND 250
Country B 100 AND 50

2003/CE/11/45
Which of the following about the two countries is correct?

A, Country B has a comparative advantage in producing Good Y.
B. Country A can produce the same amount of Good Y with fewer resources.
C.  Trade between the two countries would not be mutually beneficial if the transportation cost of trading 1 unit of
Good X is 2 units of Good Y.
D. Country A would have a larger gain than Country B from each unit of Good X traded.
2003/CE/1/46

Suppose each country has to pay a transportation cost of 0.5 units of Good X in trading 1 unit of Good Y. Which one of the
following terms of trade is mutually beneficial?

A 1Y=05X
B. 1Y=1X
C. 1Y=15X
D. 1Y=2X
2004/CE/11/45

Both countries A and B produce goods X and Y. Under which of the following conditions does country A have a comparative
advantage in the production of X7

One unit of X can be exchanged for more units of Y in country A than in country B.

In producing one unit of X, country A forgoes a smaller amount of Y than country B.

The opportunity cost of producing X in country A is smaller than that of Y in country B.

The amnaunt af resources used in producing one unit of X is less in country A than in country B,

283

10w

Provided by dse.life




MacreecConomics by Tapic
T international Trade

Refer to the information below and answer questions 46 and 47.

Both country A and country B produce nce and wine. Suppose country A has ONE unit of resources while country B has
TWO units of resources. Each country allocates half of their resources in the production of each product. The amounts of
output in country A and country B are shown below,

Rice (Units) Wine (Units)
Country A 6 AND 9
Country B 10 AND 8

2004/CE/11/46
With ONE unit of resources,

(1) country A can produce either 6 units of rice or 9 units of wine.
(2) country A can produce either 12 units of rice or 18 units of wine.
(3) country B can produce either 5 units of rice or 4 units of wine.
(4) country B can produce either 10 units of rice or 8 units of wine.

A, (1yand (3) only
B. (1)and (4)only
C. (2)and (3) only
D. (2)and (4) only

2004/CE/MNMT
Which of the following statements is correct?

A.  According to the principle of comparative advantage, country A will import wine.
B.  According to the principle of comparative advantage, country B will import rice.
C.  Country A has an absolute advantage in the production of wine.

D.  Country B has an absolute advantage in the production of rice.

Answer Questions 45 and 46 with reference to the following table.
The following table shows the number of man-hours required by Country A and Country B in the production of toys and
watches

1 unit of Toys 1 unit of Watches
Counfry A 1 man-hour 3 man-hours
Country B 2 man-hours 4 man-hours

2005/CE/11/45
Which of the following descriptions are cotrect?

(1) Country A enjoys an absolute advantage in the production of both goods.
(2) Country A enjoys an absolute advantage only in the production of toys.
(3) Country B enjoys a comparative advantage in the production of toys.

(4) Country B enjoys a comparative advantage in the production of watches.

A, (1)and (3) only
B. (1)and (4) only
C. (2)and (3) only
D.  (2)and (4) only
2005/CE//46

According to the principle of comparative advantage, when the two countries trade with each other, Country A will export
and import and a mutvally beneficial terms of trade can be | unit of toys equals

A, toys .. watches ... 0.4 units of watches B. toys... watches ... 2.5 units of watches
C.  watches ... toys ...... 0.4 units of watches D. watches ... toys 2.5 units of watches
284
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2006/CE/11/43
Under free trade, a country exports computers and imports cars. Which of the following statements about the country must
be correct?

The country

A.  has an absolute advantage in producing cars.

B. has an absolute advantage in producing computers.

C.  has a comparative disadvantage in producing cars.

D. requires less resources to produce each unit of computers.
2006/CE/11/44

The output of DVDs and MP3 players per unit of input of Countries A and B are shown below respectively.

DVD (units) MP3 Player (units)
[ Country A 10 OR 30
| CountryB 8 OR 12
If both countries have 3 units of inputs and complete specialization takes place according to the principle of comparative
advantage, the total output of the two countries is units of DVD and ___ units of MP3 player.
A 24 36
B. 24 90
C. 30...36
D. 30...90
2006/CE/11/46

If Country X is more productive in producing every good than Country Y, then

A.  the two countries may still trade with each other.
B. the gain from trade of Country X will be greater than that of Country Y.
C.  Country X will have a lower opportunity cost in producing every good than Country Y.
D.  no trade will take place between the two countries.
2007/CE/11/44

By using one unit of resources, Country A can produce 10 units of good X or 5 units of good Y. We can then conelude that

Country A has a comparative advantage in producing good X.
Country A has a comparative advantage in producing good Y.
Country A may benefit from exporting good X if the international exchange ratio is 1X =1Y.
Country A may benefit from exporting good Y if the international exchange ratio is 1X =1Y.

Taw>

2007/CEMNAS
Which of the following statements about international trade is correct if transportation cost increases?

The price of exported goods will increase if the exporting country has to bear the transportation costs

The net gains from trade of the trading partners will remain unchanged as long as trade continues.
Comparative advantages will disappear if the transportation costs are higher than the total gains from trade.
Mutually beneficial trade is possible only if the transportation costs are lower than the total gains from trade.

Taw>
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2007/CE/T/46

The table below shows the amount of resources required to produce good X and good Y by Country A and Country B
respectively.

1 unit of good X 1 unit of pood Y
Country A 20 units 25 units
Country B 10 units 25 units

Which of the following can be a mutually beneficial terms of trade?

A 1X=04Y
B. 1X=05Y
C. 1X=08Y
D 1X=09Y
2008/CE/11/45

Suppose there are two countries A and B. The following table shows the output per unit of resources in these two countries in
a certain year:

Goods X (units) Goods Y (units)
Country A 2 OR 4
Country B 3 OR |
According to the above table, Country A has a comparative advantage in producing Good because
A Y. with the same amount of resources, Country A can produce more Y than Country B
B. Country A has a lower opportunity cost in producing 1 unit of Y than in producing [ unit of X
C. ...... Country A’s opportunity cost of producing | unit of Y is lower than that of Country B
D X... Country A's oppartunity cost of praducing 1 unit of X is lower than that of Country B
2009/CE/11/46

The following table shows the amount of garments and shoes that country A and country B can produce with ALL of their
resources.

Garments (units) Shoes (units)
Country A U] OR 30
Codntry B Y] OR 20

Which of the following statements are correct?

(1) Country A has an absolute advantage in producing shoes.

(2) According to the principle of comparative advantage, country A will export shoes.

(3) Country B would gain from exporting garments if 1 unit of garments can be exchanged for more than 2 units
of shoes.

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)

Sows
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Answer questions 45 and 46 by referring to the following table. It shows the amount of toys and garments produced per unit
of input of Country A and Country B.

Garments (units) Toys (units)
Country A 10 OR 40
Country B 5 OR 10

2010/CE/11/45
Which one of the following statements is correct ?

A, Country A gives up a smaller amount of garments than Country B in producing one unit of toys.
B.  The opportunity cost of producing garments in Country A is lower than that of Country B.
C.  Country A uses a larger amount of resources than Country B in producing one unit of garments.
D. The total output of toys in Country A is higher than that of Country B.

2010/CE/11/46

When trade opens up between the two countries, 1 unit of toys can be exchanged for 0.4 units of garments. According to the
principle of comparative advantage,

A, Country A’s gain from trade per unit of export is 0.15 units of garments.

B. Country B's gain from trade per unit of export is 0.1 units of garments.

C.  Country A’s gain from trade per unit of import is 2 units of toys

D.  Country B’s gain from trade per unit of import is 2 units of toys.
2010/CE/MI/47

The table below shows the amount of labour input required to produce watches and oranges by Country X and Country Y
respectively.

Watches {units) Oranges (units *
Country X 2 man-hours 2 man-hours
Country Y 4 man-hours 8 man-hours

Baded on the above information, has an absolute advantage and has a comparative advantage in producing watches.

A. Country X ... Country X

B. Country X ...... Country Y

C. Country Y ...... Country X

D. Country Y ... Country Y
2012/DSE//37

The following table shows the number of toys or clothes that Country A and Country B can produce with one unit of
resources.

Toys (units) Clothes (units)
Country A 10 10
Country B 4 10

If the terms of trade is 2 units of clothes = 1 unit of toys,

Country A will gain 5 units of toys per unit of imports.

Country A will gain 0,6 units of clothes per unit of exports.

Country B will gain 0.5 units of clothes per unit of imports.

Country B will export toys and gain 0.6 units of clothes per unit of exports.

TNw >
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2012/DSE/1/38

Consider the trade of a good between two countries. Suppose we know their opportunity costs of producing the good.
Without knowing the terms of trade, we can determine

(1) the possible range of the terms of trade.
(2) the gain of cach country from trading one unit of the good.
(3)  the total gain of both countries from trading one unit of the good.

A, (Dand (2} only
B. (1)and (3) only
C. (2)and (3) only
D (1), (2)and (3)

Answer Questions 38 and 39 by referring to the following information.
Before trade, the output of Thailand and Japan with all their resources evenly allocated between the production of rice and
computers is shown below:

Rice (units) Computers (units)
[ Thailand 15 AND 5
| Japan 24 AND 12

2013/DSE/1/38
Which of the following statements about the above case is correct?

(1) Japan has a comparative advantage in producing computers.
(2} Japan has an absolute advantage in producing computers.
(3) With complete specialization in the two countries, the total output of both rice and computers will increase.

A (1) only

B.  (1)and (2) only

C. (2)and (3) only

D (1),(2)and (3)
2013/DSE/1/39

Suppose the terms of trade is | unit of computers = 2.4 units of rice and the computer-exporting country has ta pay a
transportation cost of 0.1 units of rice for cach unit of export. To export 5 units of computers, the net gain of the country is
units of rice.

A 15
B. 2
(Co 5
D 3
2014/DSE/1/41

The following table shows the number of man-hours required by Country A and Country B in the production of Good X and
Good Y.

1 unit of Good X 1 unit of Good Y
Country A 10 units 25 units
Country B 5 units 15 units

Trade is mutnally beneficial between Country A and Country B when the terms of tradc is

A, 1X=035Y
B. 1X=04Y
C.  1X=1.25Y
n 1X =7 173Y
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2014/DSE/1/44
The following table shows the data about Country A,
Petrolenm Rubber
(unit) (unit)
Total output with no international trade 60 and 90
Total output with specialization and international trade 0 and 210
Total consumption with international trade 90 and 120

Which of the following statements about Country A is correct?

A.  Country A has both absolute advantage and comparative advantage in producing rubber.

B.  The gain from trade of exporting 1 unit of rubber is 1 unit of petroleum.

C.  The opportunity cost of producing 1 unit of rubber (R) is 2/3 units of petroleum (P) and the terms of trade is
1R =3/4P.

D Country A can benefit from trading with Country B, whose opportunity cost of producing 1 unit of rubber is 2
units of petroleum.

2015/DSE/1/40
Assume the Jabour input requirements for the production of computers and toys in Japan and Hong Kong are as follows:
1 unit of computers 1 unit of toys
Japan 2 man-hours 6 man-hours
Hong Kong 4 man-hours 8 man-hours

Suppose there is no trapsportation cost. Which of the following can be the terms of trade so that trade is mutually beneficial
to Japan and Hong Kong?

A. 1 unit of computers exchanges for 0.4 units of toys

B. 1 unit of computers exchanges for 0.5 units of toys

C. 1 unit of computers exchanges for 1 unit of toys

D. 1 unit of computers exchanges for 2.5 units of toys
2015/DSE/1/41

A country has an absolute advantage in producing good X. Which of the following statements about the country is correct?

A, The country can produce a greater amount of good X than another good with the same amount of resources.
B.  The country has a comparative advantage in producing good X.
C.  The country has an absolute disadvantage in producing another good.
D.  The country may import good X from the international market.
2016/DSE/1/41

The tollowing table shows the amount of toys or cars that Country A and Country B can produce with the same amount of
resources.

Toys Cars
[ Country A 50 or 80
| Country B 20 or 60

The transportation cost for I unit of toy is 0.4 units of car and it is borne by the importing country. Which of the following is
the mutually beneficial terms of trade between Country A and Country B?

1 unit of toy = 1.6 units of car
1 unit of toy = 2 units of car
1 unit of toy = 2.6 units of car
1 unit of toy = 3 units of car

Tow>
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2017/DSE/1/43
The following table shaws the number ot man-hours required by Country A and Country B in the production of toys and

watches.

L unitoftoys | 1 unit of watches
] Country A 4 8
I Country B 5 20

Supposc the transportation cost for 1 unit of toys is 0.] units of watchces and it is borne by the exporting country. Which of
the following would be a mutually beneficial terms of trade between Country A and Country B?

A. 1 unit of toys = 0.3 units of watches

B. 1| unit of toys = 0.4 units of watches

C. 1 unit ol toys = 2.5 units of watches

D. 1 unit of toys = 6 units of watchcs
2018/DSE/1/43

The following table shows the output per unit of resources in Countries A and B:

Computer (units) Rice (units)
[ Country A 16 OR 16
| Country B 12 OR 3

Suppose the computer-producing country exports 10 units of computer in exchange for 5 units of rice. What is the total gain
from trade for computer-importing country?

o0w»

0.5 units of computer
1 unit of computer
2.5 unils ol computer
5 units of computer
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1992/AL/M/17

Macroeeonomics Dy Fose
¥, Intemational Trade:
Refer 1o the following table which shows the costs of production of two goods in two countries:
TV Sets Cars
Japan ¥80 ¥160
USA $10 $30

Which of the following are true?

(1) Japan has a comparative advantage in the production of cars.

(2) Aterms of trade ratio of | Car = 2.5 TV sets would make the trade between the two countries mutually
beneficial.

(3) U.S.A. has an absolute advantage in the production of TV sets.

A, (1)and (2) only
B. (1)and(3) only
C. (2)and (3) only
D (1),(2)and (3)
1996/AL/I/25
The unit cost of producing cars and computers in the U.K. and Country A are given below:
Curs Computers
UK. £280 £70
Country A $450 $150

Which of the following statement(s) is/are correct?

(1) Country A has a comparative advantage in producing cars.
(2) U.K. has an absolute advantage in producing both goods.
(3) U.K. has a comparative disadvantage in producing cars and an absolute advantage in producing computers.

A, (1)yonly

B. (l)and(2)only

C.  (2)and (3) only

D (1} (2)and (3)
1997/AL/I/15

The unit cost of production of garments and Discmans in Hong Kong and Japan are as follows:

Garments Discmans
Hong Kong $200 $2 000
Japan ¥10 000 ¥50 000

Which of the following are true?

Tow»>

(1) Hong Kong has a comparative advantage in producing garments.

(2) If the terms of trade are that 1 unit of Discmans can be exchanged for 7 units of garments, then trade is
mutually beneficial to both economies.

(3) If the terms of trade are that 1 unit of Discmans can be exchanged for 9 units of garments, then the gain to
Japan from exporting | unit of Discmans is 4 units garments.

(1) and (2) only
(1)and (3) only
(2) and (3) only
(1), (2) and (3)
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2019/DSE/1/42

The following table shows the amount of goods that can be produced with 1unit of resources in Couniry A
and Country B respectively,

Good X (units) Good Y {units)
Country A 8 or n
Conntry B -2 o 4 N

Suppose the transportation cost for 1 unit of Good X is 0.2 units of Good Y and it is borne by the exporting
country. Which of the following is & mutually beneficial terms of trade between Country A and Country B?

A. 1 unitefGood X = 1.3 units of Good Y
B,  lunitofGood X = 1.7 wits ofGood ¥ .
C. 1 unit of Good X = 1.8 units of Good Y
D. 1 unit of Good X = 2.0 units of Good Y

2020/DSE//42
The following table shows the ammounts of consumption on two goods in Country A and Country B before

international trade, Assume both countries use one unit of resources on producing Good X and one unit of
resoutees on producing Good Y.

Consumption before trade
{units)
Good X Good Y
Country A 160 and 25
Country B 30 nod 40
1 Country Awnd Country B completely specialise their production and trade with each other, the total output
of both countries wilt increase by units of Good X and units of Good Y.
A 15 15
B. 15...,.20
C. i 15
D220

2021/DSE/T/43

Both Country A and Country B produce only toys and computers, The table below shows the smount of
inputs required by Country A and Country B in the production of toys and computers.

I unit of toys 1 unit of compuiers
Country A 2 5
Country B 3 2

Based on the above infoemation, which of the following statements is correct?

A, Country A has an absolute advantage in the production of computers over Countey B.

B.  Country B has no comparative advantage in prodacing any goods s its apportunity cost of
producing toys equals that of producing computers,

€. Ifavansportation cost of | unit of computers is required to trade | unit of toys, t is impossible
o have mutually beneficial trade,

D, Iis impossible to have mutoally buneficial trade as the two couniries have equal productivity in
producing toys.

Matroeconomics by Topic

/Z. international Trade

Short & Structured Questions

1991/CE/1/3/(c)
Suppose there are only two countries and two commodities in the world. Every year each has 20 units of resources. Each
uses 10 units of resources per year to produce each commodity. The annual output per unit of resources is shown below:

Food (units) Clothing (units)
Country A 6 OR 2
Country B 3 OR 20
(1) Which country has a comparative advantage in producing food? Explain your answer. (7 marks)

(it} Calculate the increase in the total output per year of each commeodity after complete specialization, bases on the
principle of comparative advantage. (4 marks)

(iii) What piece of information is needed to determine the distribution of the increase in outputs between these two

countries? (2 marks)
1992/CE/1/2/(a)
The following table shows the output per unit of resources in two countries in a certain year
Clothing (units Rice (units
Country A 1 OR 2
Country B 3 OR 4

(i1) According to the principle of comparative advantage, which product should Country A specialize in? Explain your
answer in terms of opportunity cost, (6 marks)

(i1} Explain how trade is beneficial to Country A if 10 units of clothing are exchanged for 18 units of rice. (4 marks)

(iv) Suppose the productivity in Country A has increased. With one unit of resources, Country A can now produce 2 units of

clothing or 4 units of rice. Will your answer in (a)(ii) change? Explain. (4 marks)
1993/CE/1/2/(a)
Suppose the annual output per unit of resources in the U.S.A. and China are as follows
Clothing(Units Toys(Units)
US.A. 2 OR 4
China 1 OR 2
(i} Inthe US A, what is the opportunity cost of producing one unit of clothing? One unit of toys? (2 marks)

Based on the above answers only, explain whether you can say that the U.S.A. has a comparative advantage over China
in toy manufacturing. (3 marks)

(1) State the principle of comparative advantage. According to this principle, explain whether specialization and trade can
benefit the above two countries. (6 marks)

(1i1) Suppose with one unit of resources, China can now produce 2 units of clothing or 3 units of toys. Explain whether

specialization and trade can benefit the above two countries. (5 marks)
[
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1994/CE/1/9/(c)

Macroeconomics Oyl
7. International Tracde

Suppose the production of cars and apples in Japan and in the U.S.A. is as follows:

One Unit of Resources Can Produce

Cars (Units)

Apples (Units)

I

Japan

2

US.A.

1

4

Suppose there are no trade barriers between the two countries. When trade opens up, 3 units of apples are traded for 1 unit of
cars. Find the comparative advantage of EACH country and calculate the gain of EACH country from one unit of exports.
Explain your answer. (9 marks)

1995/CE//8
The following table shows the production of goods X and Y per unit of resources in Countries A and B
Country Good X (units) Good Y (units)
A 1 OR 4
B 2 OR 3

(a) According to an economic principle, both countries would gain from specialization and trade. Name and state this

principle. (4 marks)
(b) Calculate the range of the exchange ratio between goods X and Y for both countries to gain from trade. (4 marks)
1996/CE/1/10(a)
The table below shows the output per unit of resources of two countries in a certain year
Clothing (units Rice (units)
Country A 2 OR 6
Countiy B [0 OR 2
(1) Explain which country would have a comparative advantage in producing clothing. Show your calculation. (3 marks)

(1) Suppose 1 unit of clothing can be exchanged for 2 units of rice between the two countries. Calculate and explain how

much Country A would gain from trade if

(1) no other costs are involved in trade. (3 marks)
(IT) Country A has to pay a transportation cost of | unit of rice per unit of import. (3 marks)
1997/CE/1/10(a)
With one unit of resources, the output of food and clothing in Country A and Country B is as follows:
Food (units Clothing (units
Country A 4 OR 8
Country B 3 OR 6
(i)  Explain whether there are mutually beneficial terms of trade between these two countries. (3 marks)

b3 o 1 R 1 1l 3
Maeeeconormics by Topic
7. International Trade
1998/CE/1/10(a)
Suppose the output per unit of resources of three economies — Hong Kong, Mainland China and Taiwan — are as follows
Toy (units) Computer (units)
Hong Kong 40 OR 4
Mainland China 50 OR 2
Taiwan 50 OR 10
(1)  Calculate the opportunity cost of producing computers for each economy and point out which economy has a
comparative advantage in producing computers. (4 marks)
(1) Explain whether Hong Kong and Mainland China would gain from trade if 10 units of toy could be exchanged for 1
unit of computer (6 marks)
1999/CE/1/9(a)

Suppose the output of red wine and cars in France and Japan per unit of resources are as follows:

Red wine (units)

Cars (units)

France

4

Japan

OR
OR

2

2

Suppose France and Japan trade at an exchange ratio of 3 units of red wine to 2 units of cars. Calculate the gain per unit of

tmport for France.

2000/CE/I/11(2)

(6 marks)

The following table shows the actual output of Country A and Country B. Each couniry employs 40% of resources to
produce wine and the other 60% to produce clothing.

Wing (units) _|Clothing {units)
Country A 1200 900
Country B 400 2 400

(i1)  Suppose only Country A benefits from technological advancement and it can now produce 5 units of food or 20 units of

®

(i

Calculate the opportunity cost of producing one unit of wine for EACH country and hence explain which country will

export wine if they trade with each other.

(6 marks)

What 1s the minimum transportation cost per unit of wine (expressed in terms of clothing) which will result in both

countries NOT gaining from trade? Explain

2001/CE/1/9(a)
Suppose the output of garments and computers per unit of resources of the two economies, Hong Kong and the USA, are as
folluws

0}

(1)

your answer,

Garments (units)

Computers [units)

Hong Kong 4 OR 2
USA 4 OR 5

(4 marks)

Calculate the opportunity cost of producing one unit of garments for EACH economy. Explain which economy would

export garments,

(4 marks)

Suppose the exporting economy has to pay a transportation cost of 0.5 units of computers to export 1 unit of garments.
Find the possible range of terms of trade (for 1 unit of garments) that is mutually beneficial for both economies.

clothing with one unit of resources.

(I) Explain which country has a comparative advantage in producing food.

(3 marks)

(II) If the exchange ratio between the two countries is 1 unit of food for 3 units of clothing, calculate the gain of

Country B per unit of export.
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Macroeconomics fy Topc
7. international Trade:
2002/CE/1/9
The lollowing table shows the maximum amount of toys and computers that Country A and Country B can produce in a year
with ALL of their resources respectively.

R e e T A AR g g e e
T T s

G
MacrEconamics by Topic
7' Intermational Trade
2005/CE/I/10
With the same amount of resources, the output of watches and television sets in Country A and Country B are as follows:

Toys (Units) Computers (Units)
Country A 15 OR 5
Country B 10 OR 5
Explain whether we can conclude from the above table that Country A has
(a) an absolute advantage
(b) a comparative advantage
n producing toys. (7 marks)

2003/CE/N/10(c)
Suppose the output of paper and cars per unit of resources of Country A and Country B are as follows:

Country Watches (Units) TV sets (Units)
A 10 OR 5
B 20 OR 15
(a) (1) Explain which country enjoys the absolute advantage in the production of television sets. (2 marks)

(ii) The two countries have a different output of watches, with each country using the same amount of resources in

their production. State THREE possible reasons for such a difference. (3 marks)
(b) (i) State the principle of comparative advantage. According to this principle, explain which country would export
watches. (5 marks)
(i) () Point out the range of terms of trade (for | unit of watches) that is mutually beneficial for both countries.
(2 marks)
(II) Explain why a terms of trade outside the above range would not be mutually beneficial for bath countries.
(4 marks)

Paper (units)

Cars (units)

Country A

10

OR

10

Country B

15

OR

30

2006/CE//8
Suppose the output of clothing and computers per unit of resources of Country A and Country B are as follows

(i)  Explain which country has a comparative advantage in the production of paper. Calculate the total gain to the two
countries from trading one unit of paper. (5 marks)

(i) Suppose a newly developed Country, X, now offers paper for sale with an exchange ratio of 1 unit of paper to 0.5 units
of cars. Explain whether Country B would import paper from Country A, (3 marks)

2004/CE/1/11(a)
Suppose the amount of resources of Economy A is double that of Hong Kong and both economies use ALL their resources
in production. Their maximum output in a year is shown below,

Clothing (units)

Computers (units)

Country A

100

OR

200

Country B

150

OR

450

(a) Explain which country enjoys a comparative advantage in the production of clothing.

(3 marks)

(b) Suppose I unit of clothing is traded for 2.5 units of computers between the two countries. Calculate Country A’s gain

from trade per unit of export.

2007/CE/1/10(b)

(2 marks)

Assume the output of vegetables and jewels of one unit of resources in two cities are as follows respectively:

Clothing (units) Cars (units)
Econonity A 20 OR 10
Hong Kong 12 OR 3
(i)  Explain whether Economy A has an absolute advantage in producing clothing. (3 marks)

(1) Explain in which product Economy A has a comparative advantage. Calculate the gain per unit of export for Economy

A if the two economies trade at an exchange ratio of 5 units of clothing to 2 units of cars, (6 marks)
295
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Vegetables (unit)

Jewels {unit)

Hong Kong

5

OR

1

Shenzhen

12

OR

1

(i} Suppose the terms of trade between the two cities is 1 unit of jewels = 10 units of vegetables. Calculate the gain for

Hong Kong per unit of her exports.

(3 marks)

(ii) Suppose 1 unit of resources in Shenzhen can only grow 9 units of vegetables due to flooding after the typhoon. What is
the range of the new terms of trade that is mutually beneficial to both cities?
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2008/CE/N/7

Macroecanomics | byTur.*
7. internationat Triide

The amount of resources of Country A is half that of Country B. Both countries use ALL their resources in production,

Their maximum output in a year is shown below.

Food (units) Machines (units)
Country A 20 OR 50
Country B 40 OR 60

Explain, respectively, whether Country B has an/a

{a) absolute advantage
(b) comparative advantage

in producing food.

2009/CE/1/10(b}

Suppose the following table show the outputs of mainland China and Taiwan per unit of resources.

(i}  Explain which economy would have a comparative advantage in producing computers.

Computers [units)

Mainland China
Taiwan

50 OR
200 OR

(7 marks)
Toys (units)
90
250
(4 marks)

(i) Suppose | unit of computers can be exchanged for 1.5 units of toys when trade opens up between the two economies.

1f the computer exporting economy has to pay a transportation cost of 0.2 units of toys for each unit of export, calculate

and explain how much it would gain from exporting 1 unit of computers.

2010/CE/1/10(b)

Suppose the following table shows the outputs of Hong Kong and Japan per unit of resources.

Medicine (units)

Hong Kong
Japan

40
20

OR
OR

(i)  State the principle of comparative advantage.

(3 marks)
Watches (units)
100
40
(2 marks)

(i1) According to the principle of comparative advantage, find the range of terms of trade (for 1 unit of medicine) that is

mutually beneficial for both economies.

2012/DSE/I/9

(4 marks}

Country A requires 2 working-hours to produce a unit of shirts while Country B requires | working-hour. On the other hand,
Country A requires 10 working-hours to produce a unit of watches while Country B requires 4 working-hours

Suppose labour is the only resource required for the production of shirts and watches,

(a) Calculate the opportunity costs of producing 1 unit of shirts (in terms of watches) for Country A and Country B.

(2 marks)

(b) State the principle of comparative advantage. According to this principle, explain which country would export shirts.

(c) Find the range of terms of trade over which exchange between both countries is mutually beneficial.
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(3 marks)
(2 marks)

Macreeconomics by Tapic
¥ International Tracte

2013/DSE/M/5
Each unit of resources can be used to produce the following amount of goods in Country A and Country B:

Food {units) Smartphoncs (umé)~
Country A 30 OR 40
Country B 40 OR 80

(a) Explain which country has a comparative advantage in the production of smartphones. (3 marks)

(b) Suppose the transportation cost per unit of smartphones traded is 0.2 units of food. Is it possible to have mutually
beneficial trade between these two countries? Explain. (3 marks)

2014/DSE/1/8
Suppose the output of paper and watches per unit of resources of Country A and Country B are as follows:

Paper (unit) Watches (unit)
Country A 12 OR 3
Country B 8 OR 4

(a) Which good would Country B export according to its comparative advantage? Explain.

(3 marks)

(b) Suppose Country A and Country B trade at an exchange ratio of 2 units of watches to 5 units of paper. Calculate the

gain per unit of import for Country A.

2015/DSE/M/T

(3 marks)

Suppose both Country A and Country B use ALL their resources in production. Their maximum output is shown in the table

below.

Rice (units)

Clothing (units)

Country A

15

OR
OR

3
4

Country B 8

(a) Explain whether Country B has an absolute advantage in producing clothing. (2 marks)

(b) The rice-exporting country exports 12 units of rice in exchange for 3 units of clothing. Calculate the total gain from

trade for the clothing-exporting country. Show your workings. (4 marks)

2016/DSEM/7

The input requirements in the production of one unit of clothing and onc unit of toys are 6 units and 2 units respectively in
Country A. Country A and Country B trade at an exchange ratio of 2 units of clothing to 11 units of toys.
(a)  Which good would Country A export? Explain, (3 marks)

(b) Suppose a transportation cost of 2 units of toys is required to exchange for | unit of clothing and the cost is borne by
Country A. Calculate the gain per unit of export for Country A, (3 marks)
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Macroscanomics Dy Topic:

7. Internationat Trade Suppose the outputs per unit of resources of Country A and Cuunh‘}il} are as ft.)_{lows:

Toys (units) Cars {units)
2017/DSE/N/7 5
Country A and Country B both allocate half of their resources in producing food and half in producing computers. Their otal Countyt 1 O !
output is shown below. Country B 20 OR 10 J
Food (units) Computer (units) {a) Which good would Country B export according 10 its comparative advamiage? Explain, (3 marks)
Country A 100 50 (b)  Suppose Country A and Country B trade at an exchange ratio of § waifs of toys w0 4 umits of cars. A
Country B 100 100

tansportation cost of 0.2 unils of cars is required to exchange for 1 unit of toys and the cost is
equally shared by bots countries. Calcutate the gain per unit of export of Country B, Show your

(a) Explain whether Country B workings. {3 marks}
(i)  cnjoys an absolute advantage in producing computers, 2021/DSEAS

(ii}  will cxport computers.

Suppose the ontpuls per unit of resources of Country A and Country B are as follows.

(5 marks)
(b)  Suppose the exchange ratio is 4 units of computer for 7 units of food. Calculate the gain from trade for the computer- e =
exporling country when it exports 16 units of computer. Show your working. (3 marks) Rice (units) Wheat (units)
Country A 10 OR 4
2018/DSE/II/8 Country B 8 OR 3
try

Suppose the labour requircment for the production of toys and clothing in China and Japan is as follows:

Find the range of terms of trade over which exchange between these two countries is mutually beneficial,
Show your warkings. (3 marks)

1 unit of toys
10 man-hours
8 man-hours

1 unit of clothing
2 man-hours
4 man-hours

China
Japan

(a) Calculate the opportunity costs of producing one unit of toys for China and Japan respectively. (2 marks)
(b) State the principle of comparative advantage. According to this principle, explain which country would export toys.
(3 marks)
(¢) Suppose the transportation cost per unit of toys traded is 0.1 units of clothing and has to be shared cqually by both
countrics. Find the range of terms of trade over which exchange between both countries is mutually beneficial,
(2 marks)

2019/DSE/1I/8

The amount of resources fn Country A is twice of that in Country B. Both countries allocate half of their
resources to produce cars and the other half to produce toys. The following are the total outpats of both
countriea:

Cars (units)

Toys {units)

Country A

100

100

Country B

100

60

(8)  Explain whether Country B has
(i)  anabsolute advantage in producing cars.
(i) a comparative advantage in producing cars.
(5 marks)

®) Suppose the exchange ratio is § units of cars for 4 units of toys. Calonlate the gain from trade for the
car-importing country when it imports 10 units of cars, Show your workings. {3 marks)
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KMacroeconamics by Topic
2.international Trade

MARKING SCHEME

1990/CE/H/42 1996/CLE/1/53 200LCE144 2006/CE/11/44
A B D B (65%)
1990/CE/11/48 1997/CE/1/53 2002/CE/N1/44 2006/CE/11/46
D B A (44%) A(54%)
1991/CE/NT/53 1998/CE/MI/43 2002/CE/N/45 2007/CE/N1/44
A B C (44%) C(67%)
1992/CE/TI/51 1998/CE/MN /44 2002/CE/N1/47 2007/CE/1/45
A A C(69%) D (51%)
LA92/CEANSS 1998/CE/I/45 2003/CE/M1/43 2007/CE/N/46
o B C(31%) B (62%)
[993/CE//52 1999/CE/11/46 2003/CE/H/46 2008/CE/1/45
A A B (24%) C (65%)
1994/CE/11/52 1999/CE/11/48 2004/CE/11/45 2009/CE/1/46
A D B (50%) C(43)
1994/CE/1/53 2000/CE/T/46 2004/CE/MI4Q 2010/CE/1/45
C ) D (40%) A(61)
1995/CEAT/51 2000 CEMN4T 2004/CEM/4T 20 0/CE/T/46
B A C (65%) A(64)
20RCENA8 2005/CEMT/45 2010/CENM/47
B B (47%) B(51)
2001/CE/MNM2 2005/CEAT/A6 20124DSEN/3T
A A (47%) D (65%)
1996/CE/11/47 2001/CE/N43 2006/CE/11743 2012/DSE/N/38
D A C (43%) B (47%)
2019/DSEN/A2 2020/DS B/1/42 2Rl D(?” 55
C C
199 H/CE/N/3/(c)
(1) The opportunity cost of producing 1 unil of food

n Country 6 =2 units of clothing
in Country B: 20+ 3 = 4 units of clothing

Country A has a comparative advantage over Country B in food production because
A produces food at a refatively lower opportunity cost than B.

(1) Tncrease in foad = {6 units x 20) - [(6 units x 10) + (5 units x 10)]
= 10 units
Increase in clothing = (20 uaits x 203 - [(12 units > 10) -+ (20 units « 10)]
= 80 uniis

(iii) Terms of trade / exchange ratio of trading the two commodities

300

2013/DSEN38
A (50%)

2013/DSEA/39
A (64%)

2014/DSE/41
A (59%)

2014/DST744
D (39%)

2015/DSENA40
A(66%)

2015/DSE//41
D (45%)

2016/DSE/N/41
B (60%)

2017/DSE//43
B (65%)

2018/DSE/I/43
D (38%)

1992/ALAN17
A

1996/AL1/25
A

1997/AL/S
D

PPN
B

Marroecenonmics by Topis
7. Internationial Trade

1992/CE//24(a)
(1} The opportunitv cost of producing | umt of rice

in Country A is 0.5 umts of clothing whereas that (2)
in Country B 15 0.75 units of clothing ()
Country A produces rice at a lower opportunity cost than Country B 23]
. Country A should specialize in rice production (1)
(it} The opportunity cost of Country A in producing 18 (=2 x 9) of rice is 9 (= 1 x 9) units of clothing 2)
=> Country A gains | unit of clothing from every 18 units of rice sold to Country B (2
OR
The opportunity cost of Country A in producing 10 (= 1 x 10) units of clothing is 20 (= 2 » 10) units of rice (2)
= Country A saves up 2 unils of rice when it buys 10 units ot clothing from Country B 2)
(iv) No, because (1)
the outputs of Country A are doubled but the opportunity cost of producing rice remains the same as in (a)(ii) above
(i.e 1 unit of rice is exchanged for 0.5 units of clothing) (3)

1993/CE//2i(a)
(i) The opportunity cost of one unit of clothing is 2 units of toys, (N
while that for toys is 1/2 units of clothing. n

No, we can’t. because
to (ind out the comparative advantage, one has (o compare the opportunity cost of toy production in the U.S. A with

that in China (and see which cost is lower). 3)

(i) The principle of comparative advantage: if each country specializes in producing the good in which it has a lower

opportunity cost, then the total output will increase. (3)

The opportunity cost of producing clothing (or toys) in China is the same as that in the U.S.A , i.e. | unit of clothing is

exchanged for 2 units of toys. (2)
=» there is no gain from specialization and trade (1)

(i1i) The new opportunity cost of producing one unit of clothing in China is 3/2 units of toys which is smaller than that (2

units) in the U.S. A, (2)
= China should specialize in producing clothing and the U.S.A. should specialize in producing toys. Trade between
the two countries can benefit both. 3)
1994/CE/1/9/(c)
Comparative advantaie
Unit cost of car production in Yapan in terms of apples = 5/2 (= 2.5) units (1
Unit cost of car production in the US.A 1o terms of apples = 4/1 = 4 units [QD]
. Japan has a comparative advantage in producing cars. Conversely, the U.S.A. has a comparative advantage in growing
apples. (1}
OR
Unit cost of apples growing in Japan in terms of cars = 2/5 (= 0.4) units [
Unit cost of apples growing in U.S.A. in terms of cars = 1/4 (= ().25) units [Q]
. The U.8.A. has a comparative advantage 1n growing apples. Conversely, Japan has a comparative advantage in
producing cars 1
Gain from trade Japan Units of apples obtained from 1 unit of cars
Before specialization (within Japan) 2.5 units of apples [¢h]
After specialization and (rade 3 units of apples ()
Gain (3-2.5=)0.5 units of apples (1
Gain from trade: U.S A, Unitg of cars obtained from | unit of apples
Before specialization (within the UISA) 0.25 units of cars (1)
Afler specialization and trade 0.3333 units of cars (1)
Gain {0.3333 - 0.25 =) 0.0833 units of cars (1)
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Magrereconomics by Topic

7 International Trade

1995/CE//R

(a)  The principle of comparative advantage. [83]
If each country specializes in producing the good in which it has a lower opportunity cost, then the total output will
increase. (3)

(hy 1.5Y<1X <4y
OR
0.25X < 1Y < 0.66X )

1996/CE/ 10(a)

(1) Within A, the production cost of 1 unit of clothing is 3 units of riee. (1)
Within B, the production cost of | unit of clothing is 3/2 units of rice. ()
-« B has a lower cost or a comparative advantage over A in the production of clothing. (3]

(i) (1) Under no trade, the unit price of clothing in A is 3 units of rice forgone. When A trades with B, the import price of
I unit of clothing is 2 units of rice exported to B.
- A can save ] unit of rice pet unit of clothing imported from B.
OR
Similarly, the wnit price of rice in A before trade is 1/3 units of clothing, With trade, the export price of | unit of
rice is 1/2 units of clothing imported,
<o Acan gain 1/6 units of clothing from exporting | unit of rice (3)

(1) Tnctuding the trapsport cost, the (total) cost of 1 unit of clothing imported from B is 3 units of rice. This equals to
the unit cost of production of clothing in A.

.. there is no gain for A to trade with B (3)
2/1/10(a)
Same exchange ratio of food and clothing before trade, which is | unit of food (F) for 2 units of ¢lothing (C) / same
opportunity cost in both countries: 1F =2C (1)
=5 no such terms of trade (1)
(i) () In Counury A, the cost of 1 unit of food is (2075 = 4} units of clothing, 43}

. In comparison,
[either by showing the cost of 1 anit of food in Country B is 2 unils of clothing or explicitly shown in (a)(i)]

Country B has a lower opportunity cost in producing food. (1
- Country B has the comparative advantage in food production 1)
{an
Food (units) Clothing {units)

after trade -1 +3

before trade -1 +2
gain from trade +1 @)
- | unit of clothing is gained. / 0.5 units of food is saved. (H
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7. Intemational Trage
1998/CE/N/10(a)
(i} The opportunity cost of producing | unit of computer in

Hong Kong 1s 10 units of toy (1)
Mainland China is 25 units of toy [40)
Taiwan is 5 units of toy (1y
Taiwan has the comparative advantage in producing computers (because her opportunity cost is the lowest among the
three economies). ()
(ii) HK’s opportunity cost (EC = 10T, C = clothing, T = toy) is the same as the international price (1C = 10T) (2)
. HK will not gain (1)
Mainland China’s opportunity cost of praducing toys (cost of producing 1T = 0.04C) is lower than her export price of
toys (1T =0.1C) @
OR

Mainland China’s opportunity cost of producing computers {cost of producing 1C = 25T) is higher than her import
price of computers (1€ = 10T)

*. Mainland China will gain. €8]
1999/CE//%(a}
France’s opportunity cost of producing one unit of cars is 2 (= 4/2) units of red wine. (hH

Japan’s opportunity cost of producing one unit of cars is 1/2 units of red wine.

France’s import price of one unit of cars is 1.5 (= 3/2) uruts of red wine. (1)
.. France should import cars from Yapan, [43]

France's gain = 2 units of red wine - 1.5 units of red wine = 0.5 units of red wine (3)

2000/CE/N/ 1 H(a)
(1) Country A can produce (! 200 + 0.4) units of wine or {960 + 0.6) units of clothing.

S ATs opportunity cost of wine production 15 {900 + 0.6) /{1 200 + 0.4) = 0.5 units of clothing. (2)

Country B can produce (400 + 0.4) units of wine or (2 400 + 0.6) units of clothing.

<. 3's opportunity cost of wine production is (2 400 + 0 6} / (400 + ¢.4) = 4 nnits of clothing (2)

A has a lower opportunity cost / comparative advantage in wine production. [¢)]
= A exporis wine. [¢3]

(i) No country will gain when the transportation cost per unit of wine 2 total gain of trade per unit of wine / difference in
the two domestic opportonity costs. (2)
" min. transportation cost = [4 - 0.5] = 3.5 units of clothing (2)

2001/CE/N/9(a)
(1) The opportunity cost of producing | unit of garments
Hong Kong: 2 +4 = 0.5 units of computers (N
USA: S = 4 =125 units of computers (1)
Hong Kong has a lower opportunity cost in producing garments / comparative advantage in garment production. (1
. Hong Kong will export garments. (1)

(i1} The range of T.O.T. with transportation is:
1 unit of computers < ] unit of garments < 1.25 units of computers 3)
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ZInternational Trade 7. International Traide:
2002/CE/1/9 (b) (i) Principle of comparative advantage: If each country specializes in the production of the good 1t has a lower
{a) No, we cannot because H opportunity cosi, then the total output of all countries will increase (2)
the amount of resources of both countries are not given. (2}
The opportunity cost of producing | unit of watches
(b) Yes, we can because (n in Country A 0= 0.5 units of TV sets. (1)
in Country A, the cost of | unit of toys is 5/15 = 1/3 units of computers (43 in Country B: 15 + 20 =10.75 units of TV sets. (1)
in Country B, the cost of 1 unit of toys is 5/10 = /2 units of computers (1) (1.¢., the opportunity cost of producing watches in Country A ts fower than that in Country B.)
.. Country A has a lower cost m producing toys. () Therelose, Country A should produce and export watches, (1)

(i) (I) The possible range of mutually beneficial terms of trade is

2003/CE/10(c) 0.5 units of TV sets < | unit of watches < 0.75 units of TV sets (2)
(1) The opportunity cost of producing | unit of paver
in Country A: 10+ 10 = | umt of cars )] (11) (A country has to compare the terms of trade with its own opportunity cost of production of the good in order
in Country B: 30 = 15 =2 units of cars D] to determine whether it should export or import the good.)
Country A has a comparative advantage in producing paper, because 4D} 1f the export price of Country A (the watch exporting country) is lower than its own opportunity cost of
its opportunity cost is lower. (83 production which is 0.5 units of TV sets, Country A would lose from the trade.
Total gain from trading 1 unit of paper for Countries A and B is [2 - 1 =] 1 unit of cars (1 OR
If the import price of Country B (the watch importing country) is higher than its own opportunity cost of
(i) No, because n production which is 0.75 units of TV sets, Country B would lose from the trade. (4}

(given that the opportunity cost of 1 unit of paper in Country A is 1 unit of cars while Country X’s selling price of 1
unit of paper is 0.5 units of cars)

the lowest possible price which Country A can offer is higher than the price offered by Country X 2006/CE//R
OR (a) The opportunity cost in the production of | unit of clothing
Country B’s gain from impaorting paper from Country X is greater than the maximum possible gain from importing in Country A is 200 + 100 = 2 units of computers (1)
paper from Country A (2) in Country B is 430 + 150 = 3 units of computers {1)
Therefore. Country A has the comparative advantage in producimg clothing. (1)
2004/CE/N/11 (a) (b)y Country A gains 2.5 -2 n
(i) No, because (1 = 0.5 units of computers from | unit of export. (h
with the same amount of resources, Economy A produces a smaller amount of output than HK. / Economy A has a
Jower productivity thalf HK in producing clothing (ly
2007/CE/10(b)
Comparison of output: 10 units vs 12 units QR 20 units vs 24 vnits (n (1) (10 - 5) units of vegetables (1
=5 units of vegetables (2)
(1} The apportunity cost of producing one unit of car in Economy A is 2 units of (1)
clothing. (1 (1) 5 units of vegetables < | unit of jewels < 9 units of vegetables
The opportunity cost of producing one unit of car in HK is 4 units of clothing. OR
i.e. lower opportunity cost in Economy A, (1) 179 units of jewels < 1 unit of vegelables < 1/5 units of jewels (3)
- Ticonomy A has a comparative advantage in producing cars. (1}
2008/CEANT
To trade at 5 units of clothing to 2 units of cars, Economy A gains {(3/2 - 2 =) 0.5 units of clothing from each car (a) No becavse (€8}
exported (2) they have the same amount ol output with the same amount of resources 2)

(b) The opportunity cost of producing food

2005/CE/N0 n Country A = 50 -+ 20 = 2.5 units of machines 1)

(a) (i) Country B. This is because () in Country B = 60 =40 == | 5 units of machines (1)
{with the same amount of resources,) the quantity of outpul of Country B is farger than that of Country A. (1}

Yes because )

(1] - different education and training the opportunity cost of producing food in Country B is lower. (1)

- different degree of lechnological advanceraent
- different degree of division of labour

- different working environment 2009/CEA/10(b)

- different labour incentives (14, max: 3) (1) The opportunity cost of producing one unit of compulers
[Mark the FIRST THREE points only.] in Mainland China: 90 + 50 = [.8 units of toys (h
in Taiwan: 250 + 200 = }.25 units of toys n
Taiwan enjoys a comparative advantage in producing computers, because (n
she has a lower opportunity cost in producing computers. tn
(i)  Gain of Taiwan from exporting a unit of computers = (1.5 - 1.25-0.2) (1)
= 0,05 units of toys (2)
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2010/CEN10(b)

(i} 1f each economy spegializes to produce the good in which it enjoys a comparative advantage in production / lower

opporttunity cost of production, the output of all economies will ingr 2y
(i) In HK: the oppostunity cost of producing 1 unit of medicine is 2.5 units of watches

In Japan: the opportunity cost of producing 1 unit of medicine is 2 units of watches.

The possible range of mutually beneficial terms of trade is

2 umts of watches < 1 unit of medicine < 2.5 units of watches 4)

2012/DSE/AYS
(a) Incountry A, opportunity cost of producing 15 = 0.2W (H

In country B, opportunity cost of producing 1S = 0. 25W (1)
(b} If each country specializes in produsing the gooad in which the country has a lower opportunity cost, the lotal output

will increase. 2

Country A would export shirts. )
tc) 02IW<18<025W OR 4S<i1W <58 2)
2013/DSE/NIS

(a) In Country A, the opportunity cast of producing ] smartphone (8) = 0.75 Food (F}
In Country B, the opportunity cost of producing 1 smastphone (S) = 0.5 Food (F)
Country B has a comparative advantage in procucing smartphones. (3)

(b} Yes, because the potential gain from trade (0.75F - 0.5F = 0.25F) per unit of smartphones is greater than the
transportation cost (0.2F), [€))]

2014/DSENVR

(2) In Country A, the opportunity cost in producing | vnit of watches (W) == 4 units of Paper (P).
In Country B, the opportunity cost in producing 1 unit of watches (W) = 2 units of Paper (P)
Country B will specialize in producing watches and export watches because

the opportunity cost of producing watches is lower there than in Country A 3)
(b)  The terms of trade is W = 2.5P. Per unit of watches imported, Country A will gain 1.5 P (= 4P - 2.5P). 3)
2015/DSE/NL/T7
(a) Uncertain. Since the amount of resources owned by the two countries is not given, their productivities (i.e ., output-
input ratios) cannot be determined and compared. 2)

(b} In Country A, the opportonity cost in producing | unit of clothing (C) in terms of rice (R) = 15/3 = 5 units of rice (R).
In Country B, the opportunity cost in producing 1 unit of clothing (C) in terms of rice (R) = 8/4 = 2 units of rice (R),
Therefore Country A (B) enjoys comparative advantage in producing rice (clothing). )

Per unit gam from trade for Country B =4R - 2R = 2R
Total gain from trade == (4R - 2R) x 3 = 6R
OR
I other words, Country B would be the clothing-exporting country, producing 4C, exporting 3C in exchange for 12R
and keeping 1C for domestic consumption

Without trade, it could have produced 1 C and 6R on its own. Its fotal gain from trade is thus 6R (= 12R - 6R). )
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2016/DSE/N/T
(a) InCouniry A, the opportunity cost of producing 1C = 6/2 = 3T
The terms of trade: 1C will exchange for (11/2=}55T

As the opportunity cost of producing 1 C 1s lower than the terms of trade, Country A will produce and export €. (3)
(b} The gain from trade = 5.5 - 3 - 2= 0.57T per unit of C ' (3)

2007/DSEMT
(a) (1) Uncertam, Without knowing the total amount of resources of both countries, the productivity (output per unit of
resource) for food and computer cannot be determined. (2)

(i1} Total producible outputs in the two countries when they utilize all of their resources in producing either food or

computer:
Food {units) Computer (units)
Country A 200 100
Country B 200 200
The opportunity cost of producing 1 unit of computer in Country A:
= 200/100 = 2 units of food {1}
The opportunity cost of producing | unit of computer in Country B
= 200/200 = | unit of food {1)
Country B has a lower opportunity cost in producing computers, so it will produce and export computers. (1)
(b)  Terms of Trade (TOT) = 7/4 = 1.75 F per unit of C Q]
Per unit gain for Country B = (1.75 -1)F = 0.75F {1)
Total gain=0.75x 16 = 12F )

2018/DSENS
(a) The opportunity cost ot producing 17 in China = 5C

The opportunity cost of producing 1T in Japan = 2 2)
(b)  If each country specialises in producing the good in which the country has lower opportunity cost, then total world
output would increase. Japan would export toys, as it has a lower cost of producing toys than China. 3)
(¢) Range of TOT: 2.05C < 1T <4.95C )
2019/DSENI/8
(@) () Yes. @

When Country B has the same resource as Country A, the oufput of cars would
ke 200 units which is higher than that of couatry A

i) Yes. {3)
The opportunity cost of producing 1C in Country A= 1T
The opportunity cost of producing 1C in Country B= 0.6T
Couniry B has a comparative advantage in producing cars.
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2020/DSEM7

7A) Country B. The production cost of loy is lower Ihan country A, (0.5 car lower than | car )

B. Terms of trade 5 toys for 4 cars = | toy for 0.8 car. { 1 mark )

MacroeConomics by Tapic

Z International Trade

7.2 TRADE BARRIERS

Multiple Chorce Questions

Exporling country gain = Terms of frade — exporting country production cost — transportalion cost.

=(0.8car — 0.5car — 0.1 car=0.2car. (2marks)

2021/ DSEIE

Opportunity cost of producing 1R in Country A = 0.4W
Opportunity cost of producing IR in Country B= 0.5W
Mutually beneficial terms of trade: 0.4W < IR <0.5W

OR
Opportunity cost of producing 1W in Country A =2.5R

Opportunity cost of producing W in Country B = 2R
Mutually beneficial terms of trade: 2R < 1W < 2.5R

1990/AL/1/22
The major difference between a quota and a tariff on imports lies in their effects on

A, wealth redistribution.

B. domestic production.

C.  domestic consumption.

D. the price level.
1994/AL/1/30

Tanffs protect

A, consumers

B. the import-competing industries

C. the export industry

D. both the import-competing and the export industries
1996/AL/11/29

Which of the following 1s NOT the effect of imposing tariffs?

A =] ey ey ey ey

A.  The quantity of imports is reduced
B. The amount of deadweight loss is greater than the total loss of consumer surplus of local consumers.
C.  Local consumers consume more domestically-produced import-competing goods.
D. Domestic production in import-competing industries will increase.
1998/AL/1/28

Consider a small country imposing a tariff on an import. The diagram below shows the country’s supply of and demand for

the good.

P
D N
Pi = Price in the international market
Pt}eee———
Pl |———4~
8 D
0 Q

If the tariff rises the domestic price of good from Pi to Pt, then

Cow>

the consumers will lose areas 2, 3, 4.

the whole country will fose areas 1, 2, 3 and 4.

the tariff revenue collected by the government is areas 1, 2 and 3
Norne of the above.
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7. International Trade

1998/AL/I/29
Which of the following is NOT a result of the imposition of quotas on imports?

A, adecrease in the quantity of imports.

B. an increase in the total expenditure on imports.

C.  anincrease in import prices.

D. anincrease in domestic production.
1999/AL/TI/21

A major difference between a quota and a tariff on imports lies in their effects on

the price of imports.

the quantity of imports

domestic production of import substitutes.
wealth distribution.

Tawx>

2000/A1J1126

Y Country A's marginal cost
of production of good X

World price of good X

/ \ Country A’s demand for good X

0 P Quantity of good X

Given that the world price of good X is fixed, if country A’s marginal cost of production of good X increases, which of the
following statements are correct?

(1) The total production of good X in country A will fall.
(2) The quantity of good X imported by country A will increase.
(3) The consumer surplus of good X in country A will fall,

A, (1)and (2) only
B. (1) and (3) only
C. (2)and (3) only
D. (1), (2)and (3)
2001/AL/MI/1]

A small country imposes tariffs on good X. Suppose the demand of the country for good X increases,

(1) the government revenues from tariffs will increase.
(2) the price of good X in the country will rise,
(3) the consumption of good X in the country will increase.

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), 2yand (3)

gow>
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2004/AL/11725
Consider a country imposing a quota on an import. The diagram below shows the country’s supply of and demand for the

good.

Price

P, =world price

-» Quanlity

If the quota raises the domestic price of the good trom Pw to Pw’,

A. total loss in consumer surplus is equal to the sum of areas 1, 2 and 3.
B. total quota rent is equal to area 3.
C.  total deadweight loss is equal to area 4.
D. None of the above.
2004/AL/M126

A country imposes a tariff on good X. Which of the following will be a result of the tariff?

Price

P, = world price of good X

Quanlity

A.  The domestic production of good X will decrease.

B. The domestic price of good X will increase.

C.  Total expenditure on the import of good X will decrease.

D. The quantity of import of good X will increase.
2007/AL/11/25

Consider a small open economy with an import quota imposed on a good. If the domestic cost of production for the good

increases,

onw >

(1) the domestic price of the good will rise.
(2) the quantity of the good consumed domestically will fall.
(3) the quantity of the good produced domestically will remain unchanged

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)
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2009/AL/11/25
Suppose a country imposes a quota on an imported good. The diagram below shows the country’s supply of and demand for
the good. ’

I3 s
D
Py = world prics
Py
A b d
Py \
0 > Q

If the quota raises the domestic price of the good from Py, to Py,

A.  the loss to the consumers is area a.

B. the gain of local producers is area a.

C.  the loss to the country is the sum of areas b, ¢ and d.

D. the quota rent earned by the government is the sum of areas b, ¢ and d.

2009/ ALN20
An export subsidy will

(1) reduce the price of exports of the domestic country.
(2) increase the quantity demanded for exports by foreign consumers.
(3) improve the trade balance of the domestic country.

(1) and (2} only
(1) and (3) only
(2) and (3) only
(1), (2)and (3)

cow>

2010/AL/1/27
If a small country reduces the tariff rate of its imported good X,

the local producers will reduce their production.

the producer surplus of the local producers will increase.

the tariff revenue of the government will decrease.

the world price of good X will decrease and its import volume in the country will increase.

SOo®>

2012/AL/124
A small open economy imposes a tariff on imported good X. If the local supply of good X in the economy increases and
replaces some of the imports,

(1) government revenue from the tariff will tall.
(2) the deadweight loss will remain unchanged.
(3) the price of good X in the economt will fall,
(4)  the producer surplus of the local suppliers will rise.

(1) and (2) only
(1) and (4) only
(2) and (3) only
(2) and (4) only

vnw
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Z imermational Trade

2014/DSE/1/45
The following diagram shows the imposition of an import tariff on a good in a small open economy. After the imposition of
the tariff, which of the following statements about the good in this economy is INCORRECT?

3
h S
Py =wotld price
Pyt L= per unit it
) '
g A < "N !
s | ‘
N PN
o ' ' D
- Pl ot
uantity
Y & oo R

A The volume of imports is (Q3 - Q2) units.

B.  The domestic consumption is Q3 units.

C.  The increase in producer surplus of the domestic producers is area a.

D. The total amount of taritf is the sum of areas b, ¢ and d.
2015/DSE/N/45

The supply curve of a certain good is upward-sloping in a small open economy. What is the main difference between
imposing an effective import quota and a tariff on the good? -

A, Imposing an effective import quota will lower the volume of import while imposing a tariff will not.

B. Imposing an effective import quota will result in a rise in consumer surplus of the good while imposing a tariff
may not.

C.  Imposinyg a tariff will raise the world price of the good while imposing an effective import quota will not.

D, Imposing a tariff will result in an increase in the government revenue while imposing an effective import quota
may nat.
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7. international Trade: 5 7 Intenagonal Trade
2016/DSE/1/42 2018/DSE/1/41
Refer o the lollowing supply-demand diagram about Good X in a small country. The following diagram shows an imposition of import tariff on a good of a small open economy.
Price (§) o Price
R \ s

[ SOy dProyiats S

1] — S
Import quota | - ./E E\ $‘ <
o NG

D 1 : |

] | :

I
| 0
¥ '
d ' 5 = ;
Q wantity [ | ! 2
0 20 25 T  Questity
The country has imposed an import quota on Good X and the price and quantity transacted are PO and QO respectively. If the . R N . R " .. .
demand for Good X in the country increases, Referring to the above diagram, which of the following statements are correct after the imposition of import tariff (t)?
(1) the import volume will increase. (1) The total amount of tariff received by the government is $105.
(2) the price of Good X in the country will increase. (2) The revenue of domestic producers will increase by $110.
(3) the quantity sold of Good X in the country will increase. (3) The volume of imports drops by 15 units.
A, (1)and (2) only A (1)and (2) only
B. (1)and (3) only B. (l)and (3) only
€. (2)and (3) only C. (2)and (3) only
D (1), (2)and (3) D (1), (2)and (3)
2019/DSE/1/43
2017/DSE/1/42 The following & the supply-demand diagram of Good X in:a small open economy.
A small open economy increases the import quota for Good X. Which of the following diagrams best illustrates the effect of
this change?
A. B
Price Price
8 Sz S S,
— P as—
Py »
)
b b ! Import quota !
) . : : .
0 Quantity of Good X Quantity of Gaod X ! !
Q
0 Q Q
c D Initially the cconomy bnports Good X at the world price (P} and the government imposes an im?ort quota
. of {Qy— Q;) units. Suppose the world price of Good X drops. Which of the following statements is correct?
. Pri
L e A, The domestic price of Good X will rsmain at Py,
S Sy S 5 B. The domestic price of Good X will fall.
- « C.  The domestic supply curve will shift to the right,
D.  The quantity of & ically produced Good X will i
D . D
0 Quantity of Good X [} Quantity of Good X
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2021/8E/1/44

Suppose the world price of soybeans is $20. A small open cconomy imposes a per unit tariff of §5 on
imported soybeans. The diagram below shows the economy’s supply and demand curves of soybeans.

Price ($)
4

30 st

20

i} 36 30 36 60 —»Quantity (Units}

Which of the following statements about soybeans is eorrect?

A, The total revenue of domestic producers is $400 after the imposition of tariff,
B, The total import vadue inclusive of tariff is $500.

C. fthe tariffis raised to $15, this economy will become an exporter of soybeans.
D, Ifthe tariff is abolished, the total impon value will be $400,

2020/DSE/1/43
The diagram below shows the market sitation of Good X in a small open sconoty.

Price
.

Pofecs e

P
/ D

0 Qs Qs

+ Quantity

Po is the prics before trade and Py is the price afler iade. Which of the following siatements about Good X
are correct after the economy opens up for international trade?

(1)  The total expenditure on Good X of domestic consumers would be PixQa.
(2} The value of domestically produced Good X would be PixQ,
(3) The shortage of Good X would be Qg - Qs

A, (1) and (2) only
B, (1) and (3)only
C. (2 and (3) only
D, (1, {2)and (3)

Macroeconamics by-Topic
7. Intemational Trade

Short & Structured Questions

1993/AL/I/S
With the aid of diagrams, compare the income redistributive effects on a country imposing tariffs and quotas on its impotts.

(8 marks)

1995/AL/M/8

With the aid of one diagram only, answer (a) and (b).

(a) A small country wishes to protect its industry X by resiricting the import of good X to a given quantity. Show that this

can be achieved by imposing either a quota or a tariff on good X (3 marks)

(b) Suppose the demand of the small country for good X increases but the quota or the tariff rate imposed remain

unchanged. Compare the impact of this increase on the domestic price, import volume and consumer surplus of good X
under the quota system and the tariff system. (7 marks)

2001/AL/I1/4
With the help of a diagram, explain how the imposition of tariffs affects the producer surplus, the consumer surplus and the
welfare of a small country. (8 marks)

201 /ALA/1(d)
Name one similarity and one difference between the following pairs of terms
tariff, quota (3 marks)

2021/DSE/1/9
A small open sconomy imports junk food from other countries although such food is alse produced by local
manufacturers. During econamic recession, local people consume more junk food. Toe improve public health,
the government imposes an effective quota on the imported junk food.

{a}  Explain whether junk food is 2 normal goud or an infecior good in the economy. (2 marks)
{b)  With respect to the imposition of an effective quota during ic 1 ion, indicate the amount
of guota as Qa and the fina] equilibrium point as By in Figure 1. {4 marks)
Price () s Log (0] rk:
N
B

Sa: ocal supply of junk food before recession
Diox Jocal demand for junk food before recession
Pw: world price of junk food
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#Intetnational Trade
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1090/AL/TT22 1998/AL//29 2004/A1N25 2009/AL/26 2015/DSE/4S
A 3 B (63%) A (45%) D (68%)
1994/ ALA1/30 1999/ALMN21 2004/ALAT/26 2010/ALAL27 2016/DSEN/42
B D B (67%) A (62%) C (56%)
1996/ALA1/29 2000/AL/IN26 2007/AL/K25 2012/AL/1724 2017/DSE/N/42
B A A (70%) B (63%) € (57%)
1998/AL/1/28 2001/ALAIN ) 2009/ALA1/25 2014/DSE//45 2018/DSE//41
D B B (77%) D (64%) D (43%)
) Note: Figures in brackets indicate the perc of candid. ing the correct answers.
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Diagram | : Tariff Disgram 2 : Quota

Diagram 1 snmmarizes the offect of a tarift:

Area A:

Area A+ B+ C+ T

Arca C:
Area B and D:

increase in domestic producers’ surplus
decrease in consumers” surphus

tariff revenue aceruing to the government
deadweight loss to society

In diagram 2, a quota results in the supply curve So. Areas A, [A + B +C + D], [B and D] have the same interpretation as

before. C is no longer tariff revenue. C may be captured by the importers, foreign exporters or the government depending on

how the jinport quotas are allocated.

”

316

s |

e e e e

Macroecdnomcs by Tegic
7. International Trade
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() Suppose the country wishes to restrict the imports of X to AB. This can be achieved by imposing a quota of AB or a

tavifl of t.

(b)  After the demand grows, under the original tariff rate, the price remains to be p*(1 +1t) and the import becomes AE.
Under the original quota, the price becomes P’ [higher than p*(1 + )] and the import is CF (= AB) [smailer than AE]
The consumer surplus under the tariff system is p*(1 + DEJ [which is larger than] P’FJ under the quota system.

2001/ALATA

P D
QA+

o K H

0

> Q

In the absence of tanffs, the price in the domestic economy is P¥. After imposing tariffs, domestic price is raised to P¥(1 +1).
Producer surplus is increased by ABHK. Consumer surplus is reduced by ACEK. Tariff revenue collected by the government

is BCFG. Loss in welfare is given by BGH + CEF,

201 /AL/A(d)

8 examples of trade protection

D: direct vs. indirect effects on price of imports.
OR

indirect vs. direct effects on quantity of imports.
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(a) Inferior good, the demand for junk food increases when the income of people increases.

(b} Illustrate in the diagram:
Increase in demand

Shift in supply from S,to 84
- Final equilibrium point (Ex)
- Amount of Quota (Qa)
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